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QUESTION 1

Based on the diagram,

Time

2005 2006

r--ﬂ-J-w---1 r--q-l-v---|

2005]]12005]|12005]1|2005]|2006]]|2006||2006|| 2006
Q 1 Q2 Q3 Q4 |l Q1 Q2 Q3 ||Q4

if the expression firstSibling([2006 Q 1]) is used in the report, what item will be returned?
A.2005Q1

B. 2006 Q 4

C.2006 Q1

D. Nothing, because the return value equals the parameter

Correct Answer: C

QUESTION 2

A reportauthor creates a crosstab as shown.

Revenue 2006, 0ck 2006 o
Gross profit Gross arofit
Camping Equipment 16,036,220,15  14,645,031,27
Mountairesring Equipment  5,371,849.26 0 5,144,144.69

What is the default measure of the report?
A. Mountaineering Equipment

B. Camping Equipment

C. Gross profit

D. Revenue

Correct Answer: D
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QUESTION 3

When would a report author define a set?

A. To create a slicer to focus on a specific number of years of data in a report.
B. To change the crosstab node member properties for a level.

C. To use as a summaryfunction to return the total of the specified members.
D. To return members from different hierarchies of the same dimension.

Correct Answer: A

QUESTION 4

A report author uses the following expression: lastPeriods(3,[2007/Mar]). What data will be returned when the report is
run?

A. The last 3 months before 2007/Mar

B. 3 months, including 2007/Mar and the preceeding 2 months

C. The total of currentMeasure for 3 months including 2007/Mar and the preceeding 2 months
D. The month March of each of the 3 years 2005, 2006, and 2007

Correct Answer: B

QUESTION 5

What is the default behavior when drilling down on an edge in a crosstab report?
A. The level drilled on is replaced with the entire level below it.

B. The edge expression is replaced with the children of the item drilled on.

C. All edge expressions of the crosstab are replaced with their children.

D. The edge expression is changed to another item in the query.

Correct Answer: B
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